EEN I

HTEACHER . NET

(=TT ZRFGED

(—mZRFE) BEEABRDPEZLFR LM

Jic AT, BIK A AN, ARG R AT T R —

A—YHE, 1K 100em, T8 50cm, 7EEHIPYE &5 22— A FERER/NIET TR, B4
— AN LRI, IRESRK I RREIAY 3600cm? , ABA BT LR IET I KZEZ D7
BT R MIETTTEHIIA KA X em, ARBES H AR AR JTRENS ? (R AT N7 7 RE AR g 2

& MR AT 517 (100 - 2x)(50 — 2x) = 3600 .

i IR E CAIR T IR T

£ B H4x’ -300x+1400=0 (1.

0 B ITIEAT — R R BRI, AR R 38, SR
HE LAYy, SRR R T K, B 4 LR, R EIRH S EEiE 2 /DN AN

Fb3E?
1 1 1
A . WRGEGE X MASIELEE, TP mETE  x(x —1) =28, B x - x=28
2 2 2
(2)s

WA FE A AW S LA R, BEEATAMARR?  (FUNE S5 E5 TR,
iR I LD

Y AR, XA TTRRERAN S —TC— TR, AN TR S — o — IR OT R X eI L 2 &
AT A4 S R W 2

£ 1 FEFHEADITRRERSH AR

&2 BEEAN TR MBI R &SRB 2.

I 2 XA TR L R A5 -

(1) H R 7

(2) REH AR

(3) AREEI B IR BUE 2

T BTGB F AT, BRSPS — R, IR E AR
B B REUE 2, XFER TR — s SR R . B RS R R i — %

FAEBEE BEHEITZE



EEN I

HTEACHER . NET

ax’+ bx+c =0 b cEEHE, az0), Hrbax? MR, anif R AL, b
Mg —RIEREL, ¢ e Hom
I o ARFRATT— SR S AR — ot kT R

(D x* =1; (2) ax’ +bx+c=0
(3) Lx—1=0, (4) ¥ —2x+1=0
2

1. (2). 3 B—Im k.

[ NE =S

H£2:(D. () Ik,

Wl A RE (DL (3), (2) AN E—TT IR TFENR 2

$:FRNY (2 Ta=0 AR LK TET .

T RIS, — Tt RO — R ax + bx + ¢ = 0@ # 0), FTLh (2)

AR TR BRI E— Nt a = 0 W, SIS E AR —I0 kT FENE ?

. 52,

WA F AT ERAIR AN, AR N ORIRAIM— T N >

B 7 FE(8 — 2x)(5 — 2x) = 18 fbpli— e kT FER— R, 5 L i — kI &2 8 — ik
TR B8 H BT

£ 232 -13x+11=0; 2, -13, 11,

W e RO R R R, B T O IE, Ao R

W@ LB NIRRT R — BB, HE R R IARS. RO R B
%ﬁﬂﬁo

(1) 5x*—1=4x

(2) 4x*=81

(3) 4x(x +2)=25

Hof (1D5x*—4x-1=0:5, 4, 1;(2)4x* —=81=0:4,0, 81;(3)4x>+8x—-25=0;
47 89 _250

I AR AT 2] TR R ?

FAEBEE BEHEITZE



EEN I

uuuuuuuuu HTEACHER. NET

1 s ROTERES
A 2: —ITLIRITREI— R Rax’ + bx + ¢ = 0(a # 0)

A3 BIRRAGE T IR, IRIAR, —RIL. —IRIARE, H BRI
I AERFEATE R R
1. #H P4 S158 1. 2.

FAEBEE BEHEITZE



LEE S

uuuuuuuuu HTEACHER. NET

FAEBEE BEHEITZE



	222
	2

